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Is the blood gathered or attached — T27ON% YM2AT N TIPD TRPEOR AT

OVERVIEW

The %73 explains that the query if nawa n%nna 9was amn is valid whether we
maintain that the 2°2n2 07 is pd P91 (that it is merely encased in the body) or
72 M2 (it 1s attached and part of the body). The X3 continues that if we
maintain 7277°2 7121 a7, there is reason that it should be 710X since he is making a
wound (771217) when the 07 is released through his 7X°2. There is a dispute between
"7 (in n2w n2on) and N19oN (here) as to what is the MO X of making a 772 (it is
not listed as one of the NMaX51 N1AR ©"7).

= (3,1p maw) 1DINIY NNNY P93 WY 7Y WD KD NNIANT NIYL
The reason that making a 712m is prohibited is not like >''w9 explained it

elsewhere, for "1 explained in 2339w 732w 9P -
= 20989V /N %3) YAIN DIVN 2A1NT

That for causing a wound one is liable because of the 7oX%1 2X of dyeing, *"wA
stated this regarding the eight 239w -

— IRYY NDY 29 by GX D11 998 20NN NanT
For the xn>s2 stated there, he is liable for making a wound if the blood clotted,
even if it did not exit the body. This concludes >"w1b.

mooin disagrees with >"wAo:
— ANT ROYNYA (3,m pon) MDYV IINIYT PN 13929 AYD)

And the >''2 has a difficulty with >"w19, for in ni"™w ¥»KX P10 in the X0 of
‘lungs’ -

— D7 0NN RYOY 7Y DIVUNT DIXPY SINYI NN
The RXn»m2 teaches, ‘and regarding other zaswn=my @3pw he is not liable for

making a 77121 unless the blood exits from their bodies (outside their flesh)’. This
concludes the citation. NM901N continues with his question. According to >"wA the 70X of 77127 is

because of y21¥ -
= 913 909 7YY NN NIIN YN INND DN XY

I'See *"wA there 221m 7"7: Y21 DWW 277 12 77%37 072 MY VAR Y 39 WOT 0.
2 oW (as well as D°Wn™ °Xpw) are crawling vermin.
3a1p.
4 He is dyeing the skin (from underneath) where the blood clotted.
5 This refers to the other 0¥ except for the o°¥ W 71w which the 7710 enumerates, where there is a 211 for 7120
even if the 07 did not leave the body. See footnote # 1 & 3.
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But now by the ownm o°¥pw KXW, what ¥21% can there be, since they have no

skin® (that can be dyed) -
=70 793 NIPN NYAN NN 29I NOM

And here too (by n2w2a 7x°1) what w22 is there by this type of 7912n?!
- 8A3a8 Y RY N7 NN 220 1N

And similarly by the 771217 of 57997 the concept of m¥°2x is not applicable!

mooIn asks additionally on >"w92:
= NIPINNR NNYO RN INNIYY TN DYT 1)

And furthermore, perforce according to “X™»w there is another reason why
77121 is MoK and not because of ¥21¥ -
- IYI NYIVI DIVN YN Y28 DIVN 29501 KY DNIYT MNP (0w ~,ay naw) 91T 993 D924

For in ®173 %> pap, X 1nw said that for slaughtering an animal, one is not liable

because of ¥21%, but rather because he removes the soul of the animal -
- ONN YNMY MIRPTI NNRYI NP0 DIYN NN DNANT NIAYY INNIN

It is evident that the reason ;1™2m is forbidden is because of [1Aw3: nbow1 as »RIAW
said there -

ndoIN clarifies:
= 109537 ¥2I8 DIVN N YAI¥ DIVN DN 9INRT AN

And (even) 39 who said there that vmw is 2171 because of ¥21x, he meant that he
is also 2171 because of ¥21%, but he is certainly 211 because of w1 N1

Mmoo clarifies what is meant by (77121 is 2711 because of) 7w n>ua:!!

® The skins of DwnM D°%pw XY (except for the ¥ W ') are very thin and cannot be utilized and are not considered
skin that can be dyed. In addition since they have no skin the blood falls away and does not dye anything. The
redness of the body because of the blood, is merely a superficial stain, but it cannot be considered dyeing.
" No one dyes the skin of a person. See 1"1n who adds, even if we will assume that there is an act of dyeing (the
sheets) in order to show that she was a 77103, there should be no difference whether 22r°» >12m WX 7°p0 P92 07, he
should always be liable for dyeing!
8 The X3 states in 2,2%p N2w (mentioned later in this Mo0N) that we are [required to be] naw “%nn by A27n (for o7
Q2 *12n), and we derive it from a P10, However if 7720 is 7y°2x avvn, it should be n"an ann since there is no
concept at all of dyeing the child.
% [The w"w" amends this to read X7x.] Since by vmw there is no Y% according to 2Xmw, it follows that by 711an
there is also no ¥2¢. The reason he is 211 by 77121 is because of w1 N7l as it is by vmw.
10 The xm3 there asks on 27; X2 72w 2201 DW» TR ¥21¥ 01w (can it be that he is only ¥21% 0w 211 and not because
of w1 n°v1), and answers; ¥ DWwn AR ¥R, However, it is only by vmw that he is ¥21¥ wn 21 (according to
17), as the X3 explains there that he wants the area of the 70 nw to be dyed red with blood so people will see that it
is fresh and they will buy it. However by 77121 such a reason does not exist and therefore the 2111 of 7M2n can be
only for w1 n%°v31, but not for yax.
' Seemingly we cannot compare 7121 (and call it 72w N2°01) to 7Y NY (which is an actual mw1 N°03).
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= INNYI NYP HVIN IYWILNNY AYNIN DIYN RNYLT WD 1PN NNYI NIV
And we cannot explain the reason that making a 727 is 7»ws nYu1 is because
of weakening, that the one making the 771217 is weakening the victim and taking

away part of his 7w -
- ZYND MYIINY T8 PN NINT

For here by nX3, the husband does not require a weakening of the woman, so
why would he be 2>11 for nnwi nova!

moon however rejects this proof that 7wl N?°W1 cannot be on account of 7Won::
= 133499 NN 99910 NN NI 9INPT NNOIN 1199)

But however here when it mentions the prohibition to be nawa n%nna %12, we

can say it is a rabbinic prohibition and therefore one would be prohibited even if the 10X
of 7M1an is on account of 7WYn and it is a A"?¥RWnA, but nevertheless it is 132777 70OK.

mooIn offers an alternate proof that 7»w1 n%°v1 is not connected with won::
- D7 HRYINA NNPININT NIOIN NIINT ¥2IUN 1D 22) DaN

However regarding 1v» it seems that there is a m™n prohibition for

bloodletting -
= 1199 19921 NIN RN N2 NDT NIDIN INN (3,057 ow) TN 249 P92 1399INY

For %95 21 ruled in X' P95, ‘this 7 who does not perform 73537, it is a

danger for the child and we remove this 77 from his post’. The x7n3 asked -
- Bapby nav Phbnm NPT XOIYWO

It is obvious that it is a 77100, since we desecrate the naw to perform nx>x¥», what is "1

teaching us?! The X3 answered -
= 93150 999307 )0 YIYN X ¥ 1990 0T NIINT N

We would have thought that the blood is merely encased (so there is no 710°X of

7712n), therefore 5" teaches us that the blood is attached and you are making a 7man
and it is permitted on naw only because of wo1 mMpa.!> This concludes the citation from the X7,
mMooIn continues with his proof -

12 See later in this mooIn (footnote # 17) that if he does not require the [wX] w2 it would be considered a 7987

7912 179°% AR (if 7woni is the criterion for 7nw1 n2°01) and one is not 2>°1 for a A"7XRWA.

13 The mawn there on X,19p states that we make 71%°%7 on Naw even though (as the X3 assumes now) we are violating

the naw by removing blood, so obviously the only reason we do it is because otherwise it is a 7150; why is it

necessary for "1 to teach us that if the 2m did not make 7%°¥» we remove him; he is placing children in danger!

14 Therefore we can do ¥’ on Naw, since there is no MoK of 717127, but not because of Mw»s1 N150. [This X" that

779 72 07 was only concerning the 71%°¥ 07, but not the 771 07. Otherwise (if the X"7 was concerning 7171 07 as

well), why is it necessary for the 70 to teach us that 791 is naw M7, since P> TP 07 there is no MOR!]

15 Otherwise it would be RnX72 MOX. We cannot say that it would be MoX only 13277» (and the 73277 MO°X is

removed on account of w931 MIpPd), because the expression %9y Naw Y91 indicates an RNIIRT NOR (See 7AW ROD).
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- NONY N9 PRY NARYN NMHNT NAY NN XYY AYWHND DIVN 11D ON)
And if the prohibition of w1 n?°v1 is because of weakening, there still would be

no nNaw 9 (even if 72°n >N2°0 07) since it is a'® DY 79993 PRW RS -
= 751900 WIYNNY TNY PNT

For there is no need to weaken the child.

moo1n will now explain why 77121 or bloodletting is forbidden:
- Banw) R0 NIVUN DT NRYINT VI DN 139D ININ

And it is the view of the n''- that bloodletting is considered m72wi s -
= 20195993 NEPN YL INYPN HVNY PYYaIn NN BTN D

Because the blood is the soul, and when he removes part of the blood he
removes part of the »wa.

nvoIN asks:
= IPRIDNI ININ T8N 22 (0w x,ny ow) DT DDD P92 1399INRT PN 139290 DY

And the ' has a difficulty with the n"7 "5 of o7 nXX17, for the X973 asks in P92
®17a 992 regarding the Xn»12 which states one who captures the %1 and

squeezes it (to remove the blood/dye) he is only 2°11 one nxun for 77°% (capturing). The Xm3

there asks -
= 7YY NV OIVN ) 2NIYY

And he should be liable also for w3 n%wa (he is killing the rom) -
=995 229955 XN 29V NNV N2 NONT N9 Y97 NNPYI NYIVI JENX NN 21‘,7095‘\)2 VN

And the X3 answers, regarding 7»w: n»w1 he is a poynn, for the longer the
110 is alive, the happier the person is, etc. This concludes the citation of the X there.

Alternately if it were only an 712771 M0°X, how do we know it is permitted on account of w51 mpd, perhaps 7%°¥n is

permitted because it lessens the pain of the child, and that is sufficient to push aside the 11277 MK (see 2XMW NW).

16 See ‘Thinking it over’.

17 A 791 172°7% PRW 72891 means one is doing the act of the 7x9n, but does not intend at all to do the purpose of the

7R, For instance, it is forbidden to dig, for it is a 7791 of plowing. However if one digs because he needs some

earth, this is considered a nXn (he is digging/plowing) however he has no need for ploughing the ground.

Similarly, here if the 73872 of 7M2an would be 7woni, he would be doing the 719871 (drawing blood) but he is not at

all interested in weakening the child (on the contrary he does not want the child to be weakened). It is a x"2¥Rwn.

18 The intent of the 79X77 is the act of removing life (not weakening the person). Presumably if (2°71n12) 07is Tpom

7P, there is no w1 n2°v1; only if 9am ™ »12n, is it part of the life force, ¥"¥.

19 See 39,2> (%) @°Ma7.

20 Therefore it is not a 3"7¥Xwn by 7¥°¥n (because he wants to remove the 07) and by 72°va (if [as the X3 states] 072

7% X177, he wants that there should be o771 nRXT).

21 bovnn means he is preoccupied with something else and is not interested in doing the 79897 at all. See '0n there

POYNA "7 who writes: MM FAIRPAT Y93 P10 PRT 11° 190N PR 127 117 ROAT pOvnm.

22 The o7 taken from the live 17197 is of a better quality (for extracting the n2an dye) than of a dead 11on. See >"wM

there *5v 771"7 who writes: poynn ROR 18D PR D "BX 172 M ROW 195 770 11201 MRy 507 11°21 DR 0772 2 N0 aTw.
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NvOIN continues -
= 30191 YV IND W 997 991) 2N NIN 1D2AN N1 29D

But according to this which the n"7 said that o7 nx¥pn nR¥T is like N¥pn DRI

7nwl, so even if the 11717 is completely alive there is still ;2w n®o1 here! Why is
he 71v5?!

n10IN answers:
= PP PO NIN 12 PYAINY INTHN DT 95 DN 12929 9NIIN)

And the n'' answers that the 31791 blood which is used for dyeing is encased in
a sac -

SPOYNN DY YN H2INNY DTN INY DY) 2NN NTI0I DIVN 290 1IN NN D)
And on that blood/dye he is not liable for m72w: n>1, and regarding the rest of
the blood which is attached (which is the wo1 of the 17%n) and is also being

removed, he is considered a pe¥nn, because he has no interest at all in that blood (in fact
he does not want to remove it).

SUMMARY
The 2117 for making a 771217 on N2 is because he is taking away a part of the 7nwa.

THINKING IT OVER

Moo proves from 77¥°%» by 79°n that the 77127 MO°KR is not because of nw5nn (for
otherwise it would be a 2"2¥xwn).>> Why did not m»01n prove that the 71121 MOX is
not because of 7wonn, since we need a P109 to permit a nNaw3a 79, and if making a
77120 is MOXR on account of WL, it will not apply by 171 for it is a 3"?¥Rwn
which is not XRn>>87T7 7MOR? 1%

23 He certainly wants to remove the 17211 07 to make the n?2n.
24 That blood/dye is not the blood which sustains the 727 [it is a dye which he uses to protect himself by squirting it
on his pursuers to blind them (like the ink of an octopus)].
2 See footnote # 16.
26 See p"nuw and °"10.
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